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Verify that (sin(x) + cos(x))? + (sin(x) — cos(x))? = 2
Verify that csc(x) — sin(x) = cot(x) cos(x)

cos(x+y) _ 1-tan(x)tan(y)

Verify that sin(x-y) - tan(x)—tan(y)

2
Simplify cosT@)

1-sin(x)

Simplify (csc(x) + 1)(csc(x) — 1)

Find cos (— %)

1

Find cos(x + y). sin(x) = NG and sin(y) = % x is in quadrant Il, while y is in quadrant I.

Find sin (73—n)
12

1

Find sin(x + y). sin(x) = NG and sin(y) = % x is in quadrant Il, while y is in quadrant I.

Find sin (— g) cos (— g) + cos (— %) sin (— g) 1y

Graphy = —3 cos Gx) T /—\

Graph y = sin(4x) —71:/2 /n/z
Graph y = cos(6mx) ) A
Graphy =2 + sin(Z(x — n))
Graph y = sec Gx)

i

Graph y = csc (2 (x - E)) 1

Graphy = 3 — tan(x) ] :
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Graph y = 42 cot(x) 1
Graph y = x + sin(x) T
Graphy = x2 + cos(x)
1y
Graph y = sec(x) + csc(x) 1
Find an equation for each of the graphs below. 1
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